Find time when Hs (5) equalled Hs (1)

Sight (4) 13-00-17               60° 37.4'

Sight (5) 13-05-48               60° 33.4'

                         5-31                        4.0'

5m 31s = 5.52m

4'/5.52m = .72' per m (Rate of change in Hs between sight 4 and 5)

.4'/.72m =  .56m = .56 x 60s = 33s (Time for Hs to change 0.4')

New Hs (5) Time 13-05-15       New (5) Hs 60° 33.8'   (Hs (1) & Hs (5) now equal)

Orig. Hs (1) Time  12-47-45      Orig.(1) Hs 60° 33.8'

                                25-52-60

                               12-56-30        (Uncorrected time of meridian passage)                  

                                +4-00-00

              GMT         16-56-30

  1600  GHA           61° 13.7'

   56m 30s              14° 07.5'

  Uncorr. GHA        75° 21.2'       (W Longitude)

 Table 4 Corr.              +11.6'

  Long. 13-05-15    75° 32.8' W

                                            +.5'           (3m 30s Ship Change in Longitude from 12-56-30)

  Lon @ 1300 Hrs   75* 33.3 W

